°
AT SH= &l okENls
ClA3 si=E &, ¢F0|5
=3 dY/HIE o[o] x|
&g
THE:
Claz #e &, SR 0=,
HSY a8 ¥E3td PF 31-DIN 7708,
A8 5 55 28 oA =3
EM OIF2]:
AEM 2o 3.
23, 3™
A Al
Mz A3 EE
=0
=
-\ . ri
) s|lg/& -t s
#,
L1
_ L3
DIN 6885-1
B3
W
i
.
-$LX -
l
1
Z5 29
U0l Cl23 #HE 8, 2S I8 8ls
FEHS 2E DI D2 D3 L1113 B3 T IH e a8 38 HsE a8
K0161.01080X10 Z70[EE &% 80 10H7 26 16 31 - - - -
K0161.01080X12 Z7olglg & X9 80 12H7 26 16 31 - - - -
K0161.01100X10 Z7olelg &R 100 10H7 31 17 34 - - - -

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com -

info@kipp.com

1/3



°
= = | -
ClA3 si=E &, ¢F0|5
EZS 29
FEHS EETY DI D2 D3 L1L3B3 T 1y #HsE a8 3™ ¢sE a8

K0161.01100X12 ER R XH 100 12H7 31 17 34 - - - -
K0161.01125X12 270l E &R 125 12H7 30 18 37 - - - -
K0161.01125X14 2A0|EE &2 125 14H7 30 18 37 - - - -
K0161.01140X14 2 0|8E &R 140 14H7 34 19 34 - - - -
K0161.01140X15 2AolEE &R 140 15H7 34 19 34 - - - -
K0161.01160X15 2A0lgE &R 160 15H7 40 20 40 - - - -
K0161.01160X16 208 E &R 160 16H7 40 20 40 - - - -
K0161.01200X18 2I0|EE &2 200 18H7 50 24 46 - - - -
K0161.01200X20 2A0lgE &2 200 20H7 50 24 46 - - - -
K0161.01250X22 2A0|8E &R 250 22H7 50 28 49 - - - -
K0161.01250X24 2AolEE &R 250 24H7 50 28 49 - - - -
K0161.11080X10 2AolgE &2 80 10H7 26 16 31 3 114 - -
K0161.11080X12 2I0|EE &R 80 12H7 26 16 31 4 138 - -
K0161.11100X10 2olEE &R 100 10H7 31 17 34 3 11,4 - -
K0161.11100X12 2AolgE &2 100 12H7 31 17 34 4 138 - -
K0161.11125X12 2ZAolgE &2 125 12H7 30 18 37 4 13,8 - -
K0161.11125X14 2olEE &R 125 14H7 30 18 37 5 16,3 - -
K0161.11140X14 2A0lgE &R 140 14H7 34 19 34 5 16,3 - -
K0161.11140X15 2ZAolgE &2 140 15H7 34 19 34 5 17,3 - -
K0161.11160X15 2olelg &2 160 15H7 40 20 40 5 17,3 - -
K0161.11160X16 2AolgE &2 160 16H7 40 20 40 5 183 - -
K0161.11200X18 2ZAolgE &2 200 18H7 50 24 46 6 20,8 - -
K0161.11200X20 2olelg &9 200 20H7 50 24 46 6 22,8 - -
K0161.11250X22 2AolgE &2 250 22H7 50 28 49 6 24,8 - -
K0161.11250X24 2olEeE &2 250 24H7 50 28 49 8 27,3 - -
K0161.21080X10 2olEE &2 80 10H7 26 16 31 - - 218 x M6 x 40 -
K0161.21080X12 2I0|EE &X 8 80 12H7 26 16 31 - - 218 x M6 x 40 -
K0161.21100X10 2IolEE &R 100 10H7 31 17 34 - - 218 x M6 x 40 -
K0161.21100X12 2olelE &% 100 12H7 31 17 34 - - 218 x M6 x 40 -
K0161.21125X12 2 0|gE &5 125 12H7 30 18 37 - - 221 x M8 x 50 -
K0161.21125X14 270|8E &R 125 14H7 30 18 37 - - 221 x M8 x 50 -
K0161.21140X14 2olelE &% 140 14H7 34 19 34 - - 221 x M8 x 50 -
K0161.21140X15 2 0|gE &R 140 15H7 34 19 34 - - 221 x M8 x 50 -
K0161.21160X15 2I0IEE &R 160 15H7 40 20 40 - - 226 x M10 x 80 -
K0161.21160X16 27olEE &2 160 16H7 40 20 40 - - 226 x M10 x 80 -
K0161.21200X18 2A0|gE &5 200 18H7 50 24 46 - - 226 x M10 x 80 -
K0161.21200X20 2IoIEE &R 200 20H7 50 24 46 - - 226 x M10 x 80 -
K0161.21250X22 27olEE &2 250 22H7 50 28 49 - - 228 x M12 x 90 -
K0161.21250X24 2A0|8E &R 250 24H7 50 28 49 - - 228 x M12 x 90 -
K0161.31080X10 27 0|gE &2 80 10H7 26 16 31 3 11,4 218 x M6 x 40 -
K0161.31080X12 2AolEE &2 80 12H7 26 16 31 4 138 218 x M6 x 40 -
K0161.31100X10 2AolgE &2 100 10H7 31 17 34 3 114 218 x M6 x 40 -
K0161.31100X12 27 0lgE &2 100 12H7 31 17 34 4 138 218 x M6 x 40 -
K0161.31125X12 2A0lgE &2 125 12H7 30 18 37 4 138 221 x M8 x 50 -
K0161.31125X14 2ZA0lgE &2 125 14H7 30 18 37 5 16,3 221 x M8 x 50 -
K0161.31140X14 2AoIEE &R 140 14H7 34 19 34 5 16,3 221 x M8 x 50 -
K0161.31140X15 2AolgE &2 140 15H7 34 19 34 5 17,3 221 x M8 x 50 -
K0161.31160X15 ZAolgE &2 160 15H7 40 20 40 5 17,3 226 x M10 x 80 -
K0161.31160X16 2AoIEE &R 160 16H7 40 20 40 5 18,3 226 x M10 x 80 -
K0161.31200X18 2AolgE &2 200 18H7 50 24 46 6 20,8 226 x M10 x 80 -
K0161.31200X20 2ZA0lgE &2 200 20H7 50 24 46 6 22,8 226 x M10 x 80 -
K0161.31250X22 2olelE &% 250 22H7 50 28 49 6 24,8 228 x M12 x 90 -
K0161.31250X24 ZAolgE &2 250 24H7 50 28 49 8 27,3 228 x M12 x 90 -
K0161.41080X10 2A0|eE &R 80 10H7 26 16 31 - - - 218 x M6 x 40
K0161.41080X12 2A0|gE &2 80 12H7 26 16 31 - - - 218 x M6 x 40
K0161.41100X10 2A0lgE &5 100 10H7 31 17 34 - - - 218 x M6 x 40
K0161.41100X12 2Io|EE &R 100 12H7 31 17 34 - - - 218 x M6 x 40
K0161.41125X12 2olEE X 125 12H7 30 18 37 - - - 222 x M8 x 56
K0161.41125X14 2A0|gE &R 125 14H7 30 18 37 - - - 222 x M8 x 56
K0161.41140X14 ZA0|gE &R 140 14H7 34 19 34 - - - 222 x M8 x 56
K0161.41140X15 2olEE &R 140 15H7 34 19 34 - - - 222 x M8 x 56
K0161.41160X15 2 0lgE &R 160 15H7 40 20 40 - - - 226 x M10 x 80
K0161.41160X16 2708 E &2 160 16H7 40 20 40 - - - 226 x M10 x 80

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



°
= = | -
Cl23 $= &, 220l
EZS 29
FEHS =T D1 D2 D3 L1L3 B3 T IH #s3 a8 S|IM HEYE a8
K0161.41200X18 ER R XH 200 18H7 50 24 46 - - 226 x M10 x 80
K0161.41200X20 2AolEE &R 200 20H7 50 24 46 - - 226 x M10 x 80
K0161.41250X22 2 0|8E &R 250 22H7 50 28 49 - - 231 x M12 x 102
K0161.41250X24 2 0|8E &R 250 24H7 50 28 49 - - 231 x M12 x 102
K0161.51080X10 Z70|ElE &2Q 80 10H7 26 16 31 3 114 218 x M6 x 40
K0161.51080X12 2AolgE &2 80 12H7 26 16 31 4 138 218 x M6 x 40
K0161.51100X10 2ZAolgE &2 100 10H7 31 17 34 3 114 218 x M6 x 40
K0161.51100X12 2AoIEE &R 100 12H7 31 17 34 4 138 218 x M6 x 40
K0161.51125X12 2AolgE &2 125 12H7 30 18 37 4 138 222 x M8 x 56
K0161.51125X14 2ZA0lgE &2 125 14H7 30 18 37 5 16,3 222 x M8 x 56
K0161.51140X14 2AoIEE &R 140 14H7 34 19 34 5 16,3 222 x M8 x 56
K0161.51140X15 2AolgE &2 140 15H7 34 19 34 5 17,3 222 x M8 x 56
K0161.51160X15 2ZAolgE &2 160 15H7 40 20 40 5 17,3 226 x M10 x 80
K0161.51160X16 2A0gE &2 160 16H7 40 20 40 5 18,3 226 x M10 x 80
K0161.51200X18 2AolgE &2 200 18H7 50 24 46 6 20,8 226 x M10 x 80
K0161.51200X20 2ZAolgE &2 200 20H7 50 24 46 6 22,8 226 x M10 x 80
K0161.51250X22 2olEE &R 250 22H7 50 28 49 6 24,8 231 x M12 x 102
K0161.51250X24 2A0lgE &R 250 24H7 50 28 49 8 27,3 231 x M12 x 102

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

3/3



